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Candidate answer on the Question paper.

Additional Materials: Electronic Calculator
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Tracing paper (optional)

READ THE INSTRUCTIONS FIRST

Write your Index number, Date and Class/Section on all the work you hand in.
Write in dark blue or black pen.

You may use a soft pencil for any diagrams or graphs.
Do not use staples, paper clips, highlighters, glue or correction fluid.

Answer all questions.
If working is needed for any question it must be shown below that question.
Essential working must be shown for full marks to be awarded.

Electronic calculators should be used.

If the degree of accuracy is not specified in the question, and if the answer is not exact, give the
answer to three

significant figures. Give answers in degrees to one decimal place.
For rt, use either your calculator value or 3.142, unless the question requires the answer in
terms of n.

At the end of the examination, fasten all your work securely together.

The number of marks is given in brackets [ ] at the end of each question or part question. The
total number of marks for this paper is 100.
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This question paper consists of 12 printed pages.
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. Tié - diagram shows part of the graph of y= 12 =¥, The graph cuts the x-sxis at P and
R, and the y-axis at Q. '

(8) Find the coordinates of P, Q andR.

Answer: 5 o [3]

(b) Write down the equation of the line of symmetry of the graph  y=12+x —x*

Answer: [2]

(<) Find the maximum-value of .

Answer: [2]

(d) Find the equation of the straight line that must be drawn on the diagram to solve
the following equation x¢-5=0  graphically.

Answer: [3]
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2)

I.  The diagram shows the speed- time graph of a car.
Speed
(m/s)

20

10

Calculate
a) the acceleration of the car during the first 30 seconds.

Answer 3]
b) the total distance the car travels from rest before it begins to decelerate.
Answer [3]
c)the deceleration of the car during the last 5 seconds of its motion
Answer 3]

d) convert 20m/s into kilometres per hour.

Answer [3]

Fhe %{;y Fohool| Unified Mid-year Examination / December 2016/ Mathematics / Class 10 / 4024 - 22



. The diagram shows the velocity - time graph of a particle. Find
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a)The acceleration of the particle.

Answer (31
b) The greatest retardation of the particle.
Answer i3]
c¢) The distance of the particle at time t=10 seconds.
Answer [3]
d) The distance travelled in the last 5 seconds of its motion.
Answer [3]
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3) In‘the dingram, 48 =5 cm, LABC =90° and LBAD =/CAD = = 30°. Using as much of the
‘siiformation below as possilile, caloalate

e [Given that sin 30° = 0.5 = cos 60°,

sin 60° = cos 30° =0.87,
tan 30° = 0.58 and tan 60°=1.73]

C D
Answer [3]
. AC
Answer [4]
.
In the figure. ZABC=90° AB = {x - 2)ami BC={(2x— A and AC = (3x— Ty
Calculate (3) thie vahie of x;
Answer 5]
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Answer [4]
Iv. The angle of depression of a boat 58.5 m from the base of a cliff is 35.6°. How high is the chiff?
{Give your answer correct to 1 decimal place) Bl

ber 2016/ Mathematics / Class 10 / 4024 - 22
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a) :
I. o the figure, ZABD = 90°, 4B = 12 em, AC = 13 comapd CD =4 em. Caleulate
(ay4D,
4
C
13
A 12 B
Answer: (4]
(®)ZACB
Answer: [3]
{c}£CAD
Answer: 4]
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AC=17cm, AP =
Calculate

a)BC

b) tanC

Fhe %dy Fohool] Unified Mid-year Exa

ll.  Inthe diagram, APB is a straight line. ABC = 90°, ¢

9 cm and area of APC = 36 cm?
17

Answer (3]

PB

Answer (4]
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Use a graphical method to solve the system of equations and inequalities:

‘ y=1x+1
i 4 i 2]
| y=—-x+6 , answer = |
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Graphical representation = [3]
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o fe) =2

a) Find f~1(x)

(3]

3]

3]

Answer
b) Given that f(m) = %,find e
Answer
il - ) = E"sﬁ find
a)F(-4)
Answer
b) The value of g such that f(g) =7
Answer

(3]
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of ()

Answer

[4]
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